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l. (a)

2

What is Cost Accounting? What is the difference between Cost Accounting

and financial Accounting? (9)

Explain the following with suitable examples :-

(i) Cost Centre;

(ii) Cost Unit and

(iii) Out of pocket costs. (9)

(b)

OR

The following data is available from the books and records ofKM Ltd for the

Year 2023 :

Amount (Rs)

Sales

Material l-l-2023

Material 31-12-2023

Work-in- progress l-l -2023

Work-in- progress 3 | -12-2023

Finished goods I - 1-2023

Finished goods 3 1-12-2023

Materials purchased

Direct Labour

Manufacturing overheads

Sale of Scrap

Quality Control costs

Selling expenses

Office and administration expenses:

Factory office expenses

General office expenses

s,00,000

40,000

32,000

5 5,000

'72,000

64,000

1,51,000

1,52,000

1 ,45,000

1,00,000

2,000

10,000

5 0,000

l 5,000

2s,000
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You are required to prepare a Cost sheet for the Year 2023 Showing :

(i) Prime Cost

(ii) Factory cost

(iii) Cost of production

(iv) Cost of goods sold

(v) Cost of sales and Profit earned.

2. The following information relates to M^terial ZX.

(18)

Maximum Consumption 600 units per month

Minimum consumption 100 units per month

Normal Consumption 300 units per month

Yearly Consumption 3,600 units

Annual Carrying cost per unit 50% of price of material

Ordering Cost Rs. 400 per order

Price of material Rs. 64 per unit

Re-order period 4 to 8 weeks

P.T.O.
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Find out :

4

(i) Economic Order Quantity,

(ii) Re-order Level,

(iii) Minimum stock Level,

(iv) Maximum stock Level, and

(v) Average stock Level. (18)

OR

(a) How is Scrap different from Spoilage? How are scrap and spoilage treated

in cost accounts? (9)

(b) From the following information find out the employee turnover rate by

applying (i) Flux method, (ii) Replacement Method and (iii) Separation

Method.

Number of workers on the payroll at the beginning of the month 500 and at

the end of the month 600. During the month, 5 workers left, 20 were

discharged and 75 were recruited. Of those recruited 10 were against the

vacancies ofthose leaving while the rest were engaged for an expansion

scheme. (9)

The following information relates to the activities of a production department in

a certain factory:

3
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t

Materials used 72,000

Direct wages 60,000

Hours of machine operation 20,000

labour hours worked 24,000

Overheads chargeable to the department 48,000

For a particular order carried out in the department during 2023, the relevant

data were :

Materials used 4,000

Labour hours 1,650

Direct wages 3,300

Machine hours 1,200

Prepare a comparative statement. of cost for this order by using the following 3

methods of recovery of overheads :

(i) Direct labour hour rate method

(ii) Direct labour cost rate method

(18)

t

(iii) Machine hour rate method

P.T.O.
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OR

Discuss the method of ascertaining profits on the following contracts with

example :

(i) When contract is completed

(ii) When contract is not completed

(iii) When contract is nearing completion (18)

4. The following direct costs were incurred on a Job no. 121 ofa company.

Materials {6,010

Wages:

Department A - 60 hours @ {30 per hour

B - 40 hours @ {20 per hour

C - 20 hours @ {50 per hour

Overheads for these 3 departments were estimated as follows:

Variable overhead:

Department A - t15,000 for 1,500 labour hours

B - t4,000 for 200 labour hours

C {12,000 for 300 labour hours
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Fixed overheads :

Estimated at t40,000 for 2000 normal working hours.

Calculate the cost of Job I 2 I and calculate the pri ce to gi ve piofit of 25o/o on

selling price. ( 18)

OR

(a) Describe administrative overheads and briefly discuss the treatment of such

overheads in cost accounts. (9)

(b) What do you understand by "Operating cost"? Describe its essential features

and state where it can be usefully implemented. (9)

5. The following information relates to Process X :

You are required to compute equivalent production using FIFO method and

prepare Process X Account. (18)

Units

Opening work-in-progress (30% complete) valued at t 640 200

Units introduced during current period 1,000

Finished output during the period transferred to Process Y 1,100

Closing work-in-progress (40% complete) 100

Costs incurred during the period t9,000

P.T.O.
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OR

(a) What do you understand by Normal Wastage, Abnormal

Wastage and Abnormal Gain? How will you deal with them in cost

accounts? (9)

(b) What is integrated accounting? State the advantages and disadvantages of

integrated accounts. (9)

L (c'') ern fuq-rwr *? arrro M+-{ ft ffiq Mffii Hr srnr l? (c)

(e) ffifur d yrgm @Er{I" + cr {qstnig:-

(i) ama*<,

(i;) arrm F*.r€ *r

(t) gca ?q arrrrr (c)

ST9IITT

+v{ frRas t q{ zozs 6 qff *{ sffi + ffifud t-cr sqtrq I :-
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frff

qrcff r-r-zoes

qrrft sr-rz-zozs

Er{ yrrR rn l-l-2023

614 rqR rR 3t - 12 - 2023

tqnqm r-t-2023

tqnrna 3l-12-2023

€mrr€ffifi

lrefir gI{

frffir 3qRqq

dc * fi-fr

NUrtrflT fut?lT i{Frf,

frff qq

qrdilc Vd sflrqftfirrrq:

ffiqrdaqrqq

qrrtrar qrqlirq qq

5,00,000

40,000

32,000

55,000

72 pOO

64,000

1,5t,000

I,52,000

1,45,000

1,00,000

2,000

l0,ooo

50,000

15,000

25,000

P.T.O.

ffir (wid)
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grq ffifr{fr d <rrt+ Eg, s{ 2o2s d frs dFrd q* *qn dfrq:-

(i) ao arn

(ii) ffiarrrt

(iii) vflrd'{ * arrr

(i,) kff fts rrs qrf, * amfr

(r) ft-fr * orrrc *t sfrla drqr

z. ffift+r qrqort zx rrrcff t ffifr it

(ta )

i[k6-ff3q+rr

qrmsvulr rco {i.c sfr rt€

qrqrqllq*rr soo {tc qfr qr6

qrff'6 Gq-d s,ooo qfta

,6 gor€ qrfto' EdrS Hr{rd ffifid*mq, so vRsrt

fr&frarn aoo tct YR d€{

'ff{fiol{€ oa wt cR cH-c

g{: m&d lrsfr ataqwra

600 {+c vR qra
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HIiI dfr(:

(i) fi-d-qfr s['&qr* (E-+'fR6 m€{wrt-A),

(ii) g+ S€r<t,

(iii) q++qd'firilr,

(iv) ufu*mefmmt, *t

(") *{-d dq wtr (re )

3I9ItIT

(u,) r*q, ffifr t ks u-6R fur t ? r*c ft <fr{+d d arrn era} { fru me t
q{6rFd (ts-dtlsqe.) frqrvnrtr (c)

(ru) ffiR<-c qri-o'rt * srtlR w (i) wm ftfu, (ii) yfuqrm Rfu utr

(iit) gv-m'tur (Separation) Efr el sc+rr c,.G Es c,,ffi rS*q{ E{ arfi

dRsr

r&*frEtum{ Srmmrkmw {Rs+-*r5€q1 soo strqff+t s?+ eoo 4r

qra * *<rr, s "rRq *e,-ot qi *, ,o u1 ftoro Pqr rrqr uti zs ?rffi d rr$
d rr{ r rtr tus {s ryRc+- + e r o rff sr ffi 6 fi k + fr6a d rr€ ril E}.s-q.t

wG* iftric trfrtffiR{f,R+tr{dRsfrT€ ffr (c)

P.T.O.
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3. ffffifu6 ffi6rt frffi ffFrd ffi * lrsrrr furFr 6 qRROr* + lrfrd

i,

rgm<mfi 72 Poo

v-ser +d-{ 60,000

qrfti{t'qrdr+ € 20,000

ErcfrqIIs ffi+qt 24,OOO

Rwrc( nqdBctqc 48,000

Aqrr q q{ 2023 t *fi B frs w fris d& + t'frd tcr E{ lttnn rr:

rgmumft 4,000

,rq+ I,650

rsa tr< 3,300

cff.{€ 't,200

{

?
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sqt qq d E{e * ftqRkd s HAd 6r rrcftr qG gr vt frS{ * frs dr.rt 6r

Eil{rilo, frqrur +qR dfu:

(i) rea ryc q? at FE

(l) rer ryc il.Til E( AE

(iii) r{itnq?RE& (ra )

3Ig[CTT

ffiRrn il-d{rn t usa t ilq m var arn} * frE .n sErrtor (Fd rqf

dFus:

(i) Bs tr{str gr * urvr

(l) sn qeu gtr <& dr

(iil) u,s ugou Er ** qar Ar (re )

4. fr+ 6ffi tft ds rrqr rzr q( mk6 rrqq dr{rd sr{ *r

{mff {6,010

tc{

P.T.O.
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fufir A-60*@<gocfrqa

B-40€@<zovRqa

c-zoqt6tsoxfrra

rt flit- ftni { sct qq 6I ir{cm g{ Ir*,R vqrq tat l :

stfu1 (variable)3qt qq:

fuirrr A - l,soo *rc EA * ftg tts,ooo

B - 2oo sq qd * ftg ta,ooo

c - 3oo trq EA t ftg ne,ooo

ftri (Fixed) sqt qq:

2ooo {rqrr€r 6r{ qir + frs s-{qtH-d <40,000.

#s rzr d arm * rrur* dFus *t ft-rq {s vt zs vRm qr arq ?+ * fts E{+

Tq fr rFF{r dfrsr (te)

STSTEI

(c) nlrrufu sqt qc d nrsrEc sk drffi crfr d t+ 3qt qd 61 At q-qaftt

(treated) ftqr qmr l, e*c + s-d dfrst (c)
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(e) 'vRrrctwrc't ilqwrsrcli? Eq-* ilMfr+sdrnlcrqd{dfrq fltr

c-dqs ft Et q€i 3c+rt arr t arrl fun ur t-q-ar *t (c )

s. ffiRa mc-{t yfrqr x t rift-o *:

Efir{ql

{t i wtR q1 q.16 (so cfdrm {$) irer (640 200

vq refu + +{Tg-6 + rr€ E6rEd r,000

ilcD + *{m+qR iirscge, yfrqr y 4'fts rvrardftfr 1,t00

<qFFr rR yqft w qd (ao uRar pt) 100

a-cfu + d{or sr$ ar{rd t9,000

slq FIFO vafr qr 3c+rr q.A Eg lrfgil ssrqr (equivalent production) d rtonr

dRc flk xher 1rerilr +qR dFdsr (re)

BI9IIII

(a) <nr< irtrdr.r, ilffqrq iflTqq *r ssrqr;qagt arcerqw+i? arcdmd€rfr

i E{+ d+ mt? (c)

P.T.O
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(u) v-*ga ietrl er t? R+ril €rtl + srct att l*,urr oilrsqr (c)

( 10,000)


